EARAZROREIERT — 2 N—XBISY —F 201748128208 (k) 21@EEEHE2H

PRl 5 v v X423 A3Db HIR—B (xwlw | lmEmml - |5 @) w8
[AE£] 17 :440,000 8 ~ 2% :110,000  ~ 3% :44,000H ~ 43#%:26,000” 5 3&:18,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- SHEKX 143. —4-4- . — FHERE (BHE)
1 2 O IAHYLSA 4 5 56.OE 1(4_3)7 4-4-4-3 | 38.5 3 ig? Py
X:yp7x BirAXNATL )l E—
= 4 3 | EERA 1:43.8 1-1-1-2 [38.9| — 1 462 | BEORK (BHE)
2 4 TAZ—=T77414 56.0 (7€) (+3) | DUBEAAL
LN—=vI34 B:7U—-LJL1a AR T T 7 -4
- s en FERIEAE : -3-3- — N TREE (BE5E)
3 6 TAIL v IN> 4t 5 5%5_0 5! 1(.14/32.>9 3-3-3-1 |38.9 2 12(7)53 ’m%lza:g
L:XJr T bt —Trp—K=K B:¥AN1527> HREE
S, 44 | EEBEE 1:44.0 8-7-6-4 |38.5| — 5 490 | EORK (BEHE)
41717 TAE—=F =4 56.0 (1/2) 0 PNEEAA
¥k vv¥/¥EF BiA-Sv NI FR BHEAUS
. N thi ) . 67— - BriE—5 (Z84E)
5 NPEE SR IR o4 54_()? 1.(434).6 6-6-7-7 | 39.0 6 ié; iy
Z:nNd BRI LT — FHh)Tr7—L
= o4 | BRE— 1:44.6 2-2-2-5 [39.6| — 7 448 | M2 TEEE (BHE)
6155 TAILZ—E> 54.0 (7€) 43) S E A
R:N—E>Tv— B:xv&257 b IS Eie ]
> S s e 2 7 | ABHR 1:44.8 5-5-5-6 | 39.5| — 4 488 | AEED (BHE)
718l 9| ¥ ¥ FIT 1 ¥ =N X ) g | (P J PN
LN=YT7534 B:Yv RIyIILT jpdzie]
3 . 4 5 | DOBEER— 1:44.8 7-9-9-8 [38.8| — 8 471 | BAKREK (BHE)
gl1[1|7TAx Tk 54.0 () (3) |METFE
L:7URRNTA=Z>T B K7 WA FE
s — s 4 4 | KIAHEE 1:44.8 9-8-8-9 [39.1| — 10 453 | SEBZ (BEHE)
9|8|10| ¥ v T=>770~ 54.0 () Chy |AES
LexrivH/deF B:VT4R=I ESiatie]
N NS HEBZ :46. -10-10- . — KBEK (5H3)
wlzlg | FramFrLey LI P 1(4:)0 10-10-10-10 39.7 9 ‘:Z; paan A
L:wiNyBLhTr BRIAMFTTFv R ¥ 3 & ABMBS
® 1—F—@EBIERL
1T=7r= 4,5,6,2,9,3,1,7,10,8
2a=5F= 4,5,6,2,9,3,7,10,1,8
Ja=5= 4,5,6,2,9,7,3,10,1,8
43—+ — 6,4,2,7,5,9,3,1,10,8
[ N5
BB 2 600 | | 71 K 2-4 1403 | | # & 2-4 310M | | 3EHE 2-4-6 310M
B B 2 130H4 2-6 230M B = 2-4 290M EE 2-4-6 3,960
4 110 4-6 130H B H 2-4 1,480
6 1209

ABICOVWTRDTEEERROODE. TR LIV,



